A = va‘? sdgds J2

N,







%'T%F
o % — ”
@

2T SE 2
2

77,)/
//,:- l
Pomz/l



E’/Zf/zm’b Clas 3 Pl

ds ¥y ¥
S v W) 3 Now fo oo
@ e(s) "8 Gaus! Lew
'\ | A@ e dT

)_‘f. §
| &gegﬁg .
I nbestiona] o Yo 10
ﬁm‘?ﬁ}:{a ’_,/’ & {3
EmUI SE 736 2 =
= o 5
[E-3¢,¢




| | Clagg 2> p2
Whm‘,]f 6(3) : 0, cos ¢ R
AQ= p AT

~ 2K

K> SL\‘Q{ES C'*’Qﬁz{d?{i:}h s*d ¢
Q“—'— L—C—Q{R—}' g‘:“@f)zéliﬁ = O
| Vict fEdied Oumen

O

BN AT R S P Sy SV
(,«Lemf zfdﬂ/]/ N G L/-a/w 4



Clagr 2 p3
[.«/6 e £ w—(’aufé l)e,[a{ fkm g S/DIlmere

ik v
o] 2 Sﬁoﬂ’

AN 7 rlSM@J@O(pOé-V

\rdé £ b
4ty ) ( 55 ans

p A
QV‘“N,Q@O(?} /4

\\

S LA

q- ([ dpdr ™ rnnd
&:¢0/:17 Oo(@fo‘(/m'“'
= 2T 5 y;n@?!@g P, o R Ay
1 9 gt e
8 “(Mﬂl)j G e etk

u=r* dv S /R gyzzrdr V= 7
Qiqﬂ(MV‘f(VAM)-: ‘fﬂér”'ﬁe_r/’?)/ﬁ ‘fﬁgzr‘/’ee* ar
A = Hﬂ“(—ﬁ’+0) +OT [w-{vdu)

= T SR
U=r oLﬂ:a{de-Re V= Ie
8= j%@.g ¢ o7 rRE7R ir fﬁfﬁe ol

Zc—r//i






